51.

52.

53.

54.

CHEMISTRY

For 2 N,Og — 4 NO, + O,, rate and
rate constants are 2x10~3 and 4x10~4
respectively. Then the concentration of
N,O; at that time will be

A) 0.5x10~%

B) 0.5x10-3

C)2

D)5

Faster a chemical reaction, smaller is
the

A) rate constant

B) concentration of reactant
C) half life

D) energy

In the preparation of Grignard reagent,
the medium used is

A) Alcoholic
B) Aqueous
C) Ether
D) Acid

Benzene can be converted 1o toiuene
by

A) Wurtz reaction

B) Fittig reaction

C) Wurtz-Fittig reaction

D) Friedel-Craft reaction

T e

51. 2 N,Og — 4 NO, + O, % g, st sl =
fraais Fam: 2x10 334 x104 E1d 3w
T N, O it Figar gt

A) 0.5x107%
B) 0.5x1073
C) 2
D) 5

52. srfafsn fraht o B, I
Bie1 g

A) = Freas
B) wfimsdent it amsan

C) iy
D) St

53. S i S T WY AT §

A) ITehIE™
B) wreftg
C) $

D) srm=t

54, S # efegga 4 g afEfda
F &I
NEGERER
B) fhfan arffsman
C) gew-fsfem srffean
D) frsw-wme afifmn
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55. Acetic acid is distilled with P,0s5, a
strong dehydrating agent to get

A) CO, and CO

B) Alcohol

C) Alkane

D} Acetic anhydride

56. Aniline is used in the manufacture of
drug like
A) Aspirin
B) Cinnamic acid
C) Acetanilide
D) Salicylic acid

57. does notundergo Hoffmann's

bromamide reaction.
A) Benzamide

B) Propanamide
C) Acetamide

D) Formamide

58. Hinsberg's reagent is
A) SO,CI + HCI
B) CgH5SO,Cl
C) CHCl; + KOH
D) Hg,Cl, + HCI

:

55. tfafes arw w1 P,0. & wiFawmed
Freieftet sified & w1y ommafam #w
e F

A) CO, 3 CO

B) sreehigd

C) 3T

D) e TrergRs

56. Wi st s __ Sl aiwfet
o # g B

A) TfafE

B) faAfte av

C) tfdefrems

D) &ferarsfaae ov

57. TR Y STaTES Ak T

&l

A) SSTHTES
B) SUMMES
C) whemrss
D) wirags

58, fEment =1 sifirEmis @
A) SO,CI + HCI
B) CgHsSO,CI
C) CHCl, + KOH
D) Hg,Cl, + HCI
4JEECE

:
gcollegedumag
India’s largest Student Review Platform



59.

60.

61.

62.

63.

In the coagulation of a negative sol.
the flocculating power is in the order

A) A+ > Ba2t > Na*
B) AIR* < Ba?* < Nat
C) Ba?* < Na* < Al%+
D) Na* > A%+ > Ba2*

Van Arkel method is used for removing
oxygen and nitrogen present as
impurities from metals like

A) Cr B) Fe

C) Ni D) Ti
Formula of Zincite is

A) ZnS B) ZnCO,
C) ZnCl, D) ZnO

Percentage of carbon in pig lron is
A} 1 B) 2
C) 4 D) 3

Which of the following reaction in blast
furnace is endothermic ?

A) 2C+ 0, — 2CO

B) CaCOz —— CaO + CO,

C) C+0, — CO,

D} C+CO, — 2C0O

Catalyst used in this reaction is

A) V05 B) MnO,
C) CuCl, D) P,Os

FPage No. 16

598.

60.

61.

62.

63.

64.

TF BTHE WA % Thed d, Hoi4 Ol
_ _wHwmuEdwl

A) APt > Ba®*t > Nat
B) APR* < Ba?* < Na*
C) Ba2* < Nat* < Al3+

D) Nat* > A+ > Ba2*

smaa R 9% g
¥ el & w9 A IufSm e Ik
T1EEIeH ) T & ¢ T el Bl
A) Cr B) Fe
C) Ni D) Ti
R wgat
A) ZnS B) ZnCOq4
C) ZnCl, D) ZnO
TR TR wEI eI R
A) 1 B) 2
C) 4 D) 3
e w2 & FrafeRaa o § st st

FeqraEnE B 7
A} 2C+0, — 2CO
B) CaCO; ——» Ca0 +CO,
C) C+0, — CO,
D) C +CO, — 2CO

4HCI + O, — 2Cl, + 2H,0 T
A i mEIw__ #
A) V,05 B) MnO,

C) CuCl, D) P,0;

4JEECE
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- 65. Crystal system of CuSQ,.5H,0 is
A) Triclinic
B) Triagonal
C) Cubic
D) Tetragonal

66. Molal depression constant =
A) RXM, x T, 2
1000 x A, H
RXM, x T;2
1000 x AH
RXM, x T,
1000 x A 5 H

B)

C)

) RXM, x T;?
1000 X A'H

67. In a cubic lattice each edge length of
the unit cell is 408.6 pm and density
of the unit cell is 10.5x103 kgm™3. At
weight 107. The crystal lattice is

A) FCC
B) BCC
C) CCP
D) Primitive

68. Octahedral complex among the
following

A) Ni (CO),
B) [PtCI 1

C) [Fe (CN)gI*
D) [Co (NHg)gl®

B Page No. 17

65. CuS0,.5H,0 %t Freeet womeht B
A) Brae
B) farehivfia
C) wita
D) =Ry

66. Aielg g Frais
py XM, x s
1000 x AgH
RXM, x T,
1000 x AH
RXM, x T,2
1000 x AvapH

B)

C)

RXM, x T,2
1000x AH

87. GF TG ATe | T IR il oS
it <Y <ieg 408.6 pm 3T TS iR
&1 ued 10.5 x103 frum -3, ¥R 107 &I
foreeel wIeTh ©
A) FCC
B) BCC
C) ccP

D) TR

D)

68. frfeifga § & sTewedia 4@ §
A) Ni (CO),
B) [PICI, 1
C) [Fe (CN)gl*

D) [Co (NHj)gl**
4JEECE
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70.

71.

Acetaidehyde and Benzaldehyde can
be distinguished by

A) Tollen's test

B) Fehling's test
C) Schiff's test

D) Oxidation

Ethanal undergoes a reaction in the
presence of alkali to give 3-hydroxy
butanal. The reaction is

A) Aldol condensation
B) Claisen condensation
C) Cannizzaro reaction

D) Benzoin condensation

The compound does not undergo
Cannizzaro’s reaction

A) Acetaldehyde
B) Benzaldehyde
C) Formaldehyde

D) Trimethyl acetaidehyde

O

I LIAIH
72. R-C-NH, ———4——>H 5 XX; Xis
2

A) Amine
B) Aldehyde
C) Alcohol
D) Cyanide

Pag o. 18

69. TRemtses sidoafeedsd____&m

iae Fomar < g &
A) <tem g
B) Wefem aliamr
C) &hig wig

D) 39=EH

70. 39S & (Tehet) W Jufeuta § Th

s F0h 3-sEgiae SR S B
afirfsrm 3

A) Tegid go

B) FSH e

C) HFemy arffsran

D) seiig Fu=

71. =8 i S B s &

A) TfreafEeRs
B) diféers
C) wiiwfeers
D) grfrae wheaieers

o)

I
72. R-C-NH, —”:‘?“)4-» XX; X%
r

A) IrfH
B) e
C) ehiedt

D) aEATEE
4JEECE
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75

74.

75,

76.

77.

is polyatomic molecule.
A) Calcium
B) Oxygen
C) Sulphur

D) Barium

Freundiich isotherm is a plot of log x/m

Vs it gives a straight line.
A) log P B) log K
1
C) - D) logC
n
In Ostwald’'s process is

used as catalyst.
A) Ni B) Pt
C) Fe D) V,0q

Colloidal paricles are charged can be
demonstrated using

A) Brownian movement
B) Tyndall effect
C) Electrophoresis

D) Dialysis

Bredig's arc method involves
A) Oxidation

B) Reduction

C) Condensation

D) Evaporation

73. T TEIRATY] 3 &
A) Hfcwam
B) stadisH
C) At
D) afam

74. gfea sngarn log x/m 3R F
o we e R g el Y o 2
A) log P B) log K
C) % D) log C

75. aifeaics wiwad, I Al
wier wgeFa Bl 21
A) Ni B) Pt
C) Fe D) V,05

76. MgEAFIEREE, q___
weinT ek wefia i aehan 1

A) sTSfEE Tt
B) fea e

C) AgasmuEacH
D) S¥dre

77. afen 3 fafa & 8l
A) IY=RA
B) q=EA
C) &&=
D) ATt
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78.

79.

80.

81.

82.

83.

is a low spin complex.
A) Ni (CN) 2" B) [Co Fgl*~

C) [NiCl % D) [Fe Fgl*~

Oxidation state of manganese in
Mn (CO); is

A) +5
C) +6

B) +1
D)0

Number of donating atoms present in
EDTA

A) 6
C) 2

B) 5
D) 4

Colour of V¥ ion is
A) Green

B) Violet

C) Pink

D) Blue

Catalyst used in Hydrogenation
A) V,0q B) Fe
C) Ni D) Pd

Due to lanthanoid contraction
elements exhibit similar radii.

A) Zn & Hg
B) Zr & Hf
C) Zr&yY

D) Ag & Cd

Page No. 20

78. T e = e
A) Ni (CN),J%- B) [Co Fgl*
C) [Ni Cl,J*" D) [Fe Fgl*

79. Mn (CO), & et ot So=ra ferfar @

A) +5 B) +1

C) +6 D) 0

80. EDTA # 3qftra emehal wwaroai 1
& ]

A) 6

C) 2

B) 6
D) 4

81. VH IARA R TI R
A) &
B) st

C) T
D) e

82. TTES SR ¥ Tga IO
A) V,05 B) Fe
C) Ni D) Pd

83. SN UFTAFRFRU ____ T EAH
frem i B

A) Zn 3R Hg
B) Zr 3R Hf
C) Zr3mY
D) Ag 3R Cd
4JEECE
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84. R—X+A—>RNC+B;A&B ate 84. R—X+A—RNC+B; A3RB%
A) AgCN and AgX A) AgCN =it AgX
B) AgNC and AgX B) AgNC 3t AgX
C) KCN and KX C) KCN R KX
D) NaCN and NaX D) NaCN 3t NaX
Cl Cl
85. @ NaOH ﬁa;;, > x —2 >Y; 85. @0 NaOH af,i:(m >x —
yis y 2
A) Aniline A) e
B) Aldehyde B) wIiErde
C) Ketone C) #ieH
D) Phenol D) f&mea
86. Phenol is converted in to benzene in 86. fmter =t sisfla A &1 sufeafy &
presence of giafda fora st &1
A) anhy.AICI, A) Fsfa AICI,
B) NayCr,0, B) NaCr,0;
C) Zn C) Zn
D) Cu D) Cu
87. RCN+SnCly+HCl 0", RCHO. | 87. RON + SnCl, + HCI MO, RCHO,
Name of the reaction is affFm e #
A) Stephen reaction A) T Afyish
B) Etard reaction B) seig wrfvrisnat
C) Kolbe's reaction C) wiesr Afiea
D) frewda-=ra st

D) Gattermann-Koch reaction
5 oo 21 iEECE

:
Qcollegedumag
India’s largest Student Review Platform



88.

89.

80.

91.

92.

Reagent used in carbylamine reaction
A) CHCI; + KBr
B) CHCI; + KOH
C) NaNO, + HC!
D) KOH +1,

Reducing sugar is
A) Sucrose

B) Cellulose
C) Maltose

D) Starch

Six membered cyclic structure of
glucose is calied

A) Furanose
B) Pyranose
C) Galactose
D) Amylose

amino acid is aromatic in
nature.

A} Lysine

B) Serine

C} Tyrosine
D) Glutamine

Deficiency of Vitamin-B, causes
disease.

A) Night Blindness
B) Beri-beri

C) Convulsions
D) Scurvy

3

88. wratsererms aTRrfn o wgaa el &

A) CHCl, + KBr
B) CHCI, + KOH
C) NaNO, + HCI

D) KOH + 1,

89. =T T &

A) T
B) @i
C) aea s
D) =N

90. IS I B: TEEI =isha T

91.

gl 8

A) TEAN
B) uigS
C) o=
D) uHTEi

ST 3T Wenfa | WOAR B

A) @msiEa
B) &

C) Tt
D) wgemmE

92. faef-B A wha___ dmam e

A) TR 3t
B) st-ah
C) Ta
D) Tt
4JEECE
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95.

94,

Gt

83. Electrolyte used in Ni-Cd cell

A) KOH
B) H,SO,
C) LiOH
D) Al,Oq

For certain reaction, the values of A &
Eain Arrhenius equation are 4x1013g-1
& 98.6 kd/mol. If the reaction is 15t
order, at what temperature will its half-
life period be 10 minutes ?

A) 325.60 K
B) 311.35K
C) 300 K

D) 510.05K

Two solutions of NaCl and CH,COOH
are prepared separately. The molarity
of both is 0.1 m and osmotic pressure
P, & P, respectively. The correct
relationship between osmotic pressure
is

A) Py =P,
B) Py >P,
C) P,>P,
D) Py=P,

D) P, #P,

93. Ni-Cd 8«1 # yga farga-a1queg &

A) KOH
B) H,SO,
C) LiOH
D) Al,O,

94. Fo ARfEme % for, sifra i

d A 3T Ea % 91 4x10135-1 afly
98.6 kJ/mo! &1 IR s s A a
forr aroT X sEh ondf a1y 10 R anft 7

A) 325.60 K
B) 311.35 K
C) 300 K

D) 510.05 K

95. NaCl 3t CH;COOH % 3 Rerm a7emr-

TERT ST ST 8 SR Sl I ST 0. 1m &
3 T 7 A Py 3 P, §) e
< % off we) Gy &

B) Py >P,

C) P> P,
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96.

97.

98.

99,

100.

Ethytene glycol + A —— Decron, A
is

A) Terepthalic acid

B) Hexamethylene diamine
C) e —Caprolactam

D) Melamine

Tranquilizer among the following
A) Seldane

B) Veronal

C) Paracetamol

D) lproniazid

[Co (NHz)5 SO,]Brand [Co (NH,). Br]
SO, are

A) Linkage isomers

B) Coordination isomers

C) lonisation isomers

D) Optical isomers

4HNO, + P40, - 4HPO, + X, X i
A) N,Og
B) N,O,
C) N,O
D) N,Os

Oxidation state of phosphorous in
orthophosphoric acid is

A) +5
B) +4
C) 43
D) +2

96. U TETgRIcT + A —> 3H, AR
A) TR I

B) twaiiiendeT g
C) e—FuATm
D) P

97. fr=faRaa # @ yerias 2
A) ﬁ@q
B) atF e
C) grfiemiter
D) 3mEsiERns

98. [Co (NHy)5 SO4IBr 3R [Co (NH,)s Br]
SO, &
A) TEadt aRETEt
B) aw-=rft anTaet
C) sTma-tertor qaEadt
D) v wHTEgE!

99. 4HNO; + PO, — 4HPOZ + X, X ?
A) N,O4
B) N,O,
C) N,O
D) N,O

100. HTeThiehii e § He6RE $i 3T
el e
A) +5
B) +4
C) +3
D) +2
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